T bR R E - Sk T E R A

FIH H2H

)

¥

S H

L R T R
ik

17 & B AL 1 E)
g%ﬁmﬁﬁ%
4 o 4 B 80 2
BEAGEE
B BB i 3 o R T
POk 47
4 L
5 45 E
g§$m$ﬁ%

o] L[]
RO ERWEE SE R
Bt
BRELHEY
HE

B {ir & ¥

i % i HL

L REEE
S

31l 6k B Pt
REREH
FerysRE
HERE
Wi E
EERiikS

101 FERIEE
IR RN

101 FEH &7
BRIE

FEHG RIS
R

HR1E 7
BRI
& (T
152
R 3 1
- fif

4

S &8 o 2 AH [BH 2
RE 42 1F T

EEE N S (3
#

7R
ol

40 e 3 2 35 G
(20114 HERR)

HOE b

X = et
-'.l-IH' 3
Ay $8 &5 H=
] ' | ¥
Y Ml e o [ Eﬁﬂﬂa
i i . inh T e e o Ty
P el e B o e A e P
CEH HEEE EBRM AR SO
(BH) > GERBHEE > ERAHRLAE > FERBKINED
FEAFEHNEMESER  REEIREEN > FERBREE - RFEEN T HERER
ey (55 15 It i A B B (B )
FEEREEAL
" [3.76.42.96.19-0] [ =]
C 2 L FTPE | PR
2 3l L] o B
o REORHEIE ¢ [ El sm | s | T
REBESHE
1
ESEE O\ HE WA (1) = (2) + PAREEE — mommw momERE| FEER
(4) + (5) + (6) | £%(2) (’i)tt/((";))' REBEL(4)|REESR(S) |BESK(S)
45> 4
;{fj{ﬁﬁaﬁ&é;%%% 1,720.00 1,720.00 100.0% 0.00
@
Wi 4 % A ;{%@EW“&MH 0.00] 0.00] 0.0% 0.00
2 ALR
Mo [
A H BB (0A) A 37,906.00( 37,906.00 100.0% 0.00
/NEt 39,626.000 39,626.00 100.0% 0.00 0.00 0.00
* 50 BB 0.00 0.00 0.0% 0.00
F 4]
gg&@‘%@qﬁﬁﬂ 0.00] 0.00] 0.0% 0.00
[ A= Bk oy [ 0.00 0.00 0.0% 0.00
RS 0.00 0.00] 0.0% 0.00
N % V) he B 5 71,449.00] 71,449.00 100.0% -- 0.00
f@f%iﬁﬁ *EL A 8,351.00 8,351.00 100.0% 0.00 0.00 0.00
= * 55 B 0.00] 0.00] 0.0% 0.00
I 0.00 0.00 0.0% -- 0.00
* B E 0.00 0.00 0.0% 0.00 0.00 0.00
0 AT 0.00 0.00 0.0% 0.00
* o | R N SR 0.00] 0.00] 0.0% -- 0.00
/NEt 79,800.00( 79,800.00 100.0% 0.00 0.00 0.00
=% Ak 0.00 0.00 0.0% 0.00 0.00 0.00
* 8 K FE 0.00 0.00 0.0% 0.00 0.00 0.00
* R 0.00 0.00 0.0% 0.00 0.00 0.00
o 2 R BLE) 0.00 0.00 0.0% 0.00
o - LK E 0.00 0.00 0.0% 0.00 0.00 0.00
g;%f;?fﬁio BRI 0.00 0.00 0.0% 0.00 0.00 0.00
I‘E;&{*im( BIOK 3t E HE 0.00 0.00) 0.0% 0.00) 0.00 0.00
) s 0.00 0.00 0.0% 0.00 0.00 0.00
* A KR 0.00 0.00 0.0% 0.00 0.00 0.00
U4 > Bl
{EE@L&“&"@“ 0.00 0.00 0.0% 0.00
5 G
Eiﬁﬁ;iﬁ%n& 0.00 0.00 0.0% 0.00
B U A 4 7 4 5 0.00 0.00 0.0% 0.00
A7 R 0.00 0.00 0.0% 0.00
*HE A 0.00 0.00 0.0% 0.00
YE AR TR 0.00 0.00 0.0% 0.00
IR 0.00 0.00 0.0% 0.00
7K 2R 0.00 0.00 0.0% 0.00
o 5'&%1% 0.00 0.00 0.0% 0.00
St A B 950.00 950.00 100.0% 0.00
EX7DE: S 3 2,427.00 2,427.00 100.0% 0.00
[ 0.00 0.00 0.0% 0.00
N SN
g‘?}gg%ﬁt%% 0.00] 0.00] 0.0% 0.00
8 5 B 0 R 1,320.00 1,320.00 100.0% 0.00
BV 0.00 0.00 0.0% 0.00
R 1
;E@L&ﬁﬂﬁﬁ% 0.00] 0.00] 0.0% 0.00] 0.00 0.00
EE R 0.00 0.00 0.0% 0.00 0.00 0.00
/N 0.00 0.00 0.0% -- -- 0.00
s 4,697.00 4,697.00 100.0% 0.00 0.00 0.00
K 124,123.00 124'123'(050) 100.0% 0.00 0.00] 0.00(I)
IR E BB R 1,692.00| 1,692.00(F) 100.0% 0.00(J)
BB E R 0.00 0.00(G) 0.0% -- - 0.00(K)
FoHEEAEE S 0.00| -- 0.0% 0.00(H) 0.00(L) --
* R B W T R A S E R B S R T B A AR
6 B OR H (230) 47,977.00] 47,977.00 100.0% 0.00] 0.00 0.00
FE o REEC Ry R O] UCEE R A4S E BRI TE H E &

http://greenliving.epa.gov.tw/GreenLife/greenPurchase/organ/gpReportPrint.aspx

2013/12/18



T bR R E - Sk T E R A

F2H H2H

AE N 2 HE EREBEE (4015 ) B X
b — i o5 45 2 4R B0R H 5 o9 et 0%
(M) —gis & AE B CRIR S ES)  |124,123.00| » FERERMARESE
(%{%@»?Euu) 100%
poea— — P (‘)
(B)% —Miis & M B R R ES) 0.00| B miSERMEL &R _
i 4 %8
(CO)F—EiEERBEH (BE=2EBHEEL) 0.00 124,123.00 X
124,123.00 100%
(D) —JmisERMEE (BB EER) 0.00 -100.00%
X f5 RIS TE H (4078 ) 2 B3 45 4 FE SPAK B 23 7 043
BEERBE G
EEERREHERE
= B <21 = B &% [=[(E+F+G+H+M)/
(E+F+G+H+I+J+K+L+M)] * 100%
(E)5 MRl (1) 2 15020 Bt (8 2 o
R ) 124,123.00) 450 i ) 000
(F)5 — Ik & B4 (J)5E—JEIE 45 E BB fn T 7 I 4 4
a8 (G ) 1/692.000 0 o empmms) 000 T EWEEE X 100 % =
(G)% — BB fR i i (K) 58 — 4B 58 OR 5 7 i 125,815.00 0
s 4 2 R (72 ) 000 Jemm e ) 0.00 125,815.00  * 100%
(H) 5 = J8 B 52 {7 o 7 b o oolDE=EEEIREES | o = 100.00%
i 4 0 (B R ) N rmmen) '
(M) &k (0 0.00

*EGERBHEEERRSEENKES305

EA RN R A | s | mpes
SR TE7.0 BLERGA - MHEMITE 1024 * 768 BIF - BEFH O : 2013-12-17 16:43:57

http://greenliving.epa.gov.tw/GreenLife/greenPurchase/organ/gpReportPrint.aspx 2013/12/18



